Confronting scarcity
Owens, an economist, states that: “ The challenge of production is choosing what to produce and how much of it to have a maximum benefit. An example of choosing would be when a state makes a choice to build more prisons to house criminals they must cut back on other types of spending, an example would be building highways. The tradeoff is building prisons to building highways. So as more prisons are being built fewer highways can be constructed due to a lack of resources. Therefore there is an inverse relationship between building prisons and constructing highways. This implies the construction capabilities of a state have scarce resources. 


Owens explains, “When looking at a production possibility curve the straight line indicates a constant opportunity cost. While a bowed out or concave type curve illustrates the law of increasing opportunity cost.” The more of something produced creates a higher opportunity cost. 


The rainforest is one resource, which is running scarce. Owens states, “ A report indicates that by 2020, 80-90% of the rainforest will be gone. This is due to the rate at which we are developing the land and cutting down the trees. Linwood Pendleton, an Assistant Professor of Economics explains, “ The rainforest is known by all and is government land. The government will sell the land provided the buyer makes improvements to better the land. This is because the government does not think that the rainforest is productive in its current state. So if they sell the land and the buyer makes it a cattle field then the land now has a productive use.” In South America the rainforest is diminishing quickly. After the buyer clears the land it is then burned. People find this puzzling because the trees are burnt instead of used for timber although Pendleton explains the three reasons for this. According to Pendleton, “The first reason is because the timber in South America is not of timber like quality. The second reason is the farmers need to get rid of the stumps and the best way to do this is through burning. Lastly, because tropical soils are very nutrient poor and the nutrients are in the trees by burning the trees it releases the nutrients into the soil and then the farmers can utilize the nutrients.” Pendleton explains, “In Brazil the government offers tax write-offs to the people in the city who will acquire the land and make it into cattle fields therefore increasing the productivity.” According to Russell Pollero, “ The quality of tropical wood is much better than that of domestic wood. The color, grain, and texture of the wood are that much better in the finished product.” Pollero also adds, “There is a lot of illegal activity in acquiring wood from areas that have been cut off from timbering.” 


There are long-term effects from clearing the rainforest. They are onside effects and offside effects described by Pendleton as, “Onside effects happen within the area that is cleared. These include the vegetation, the animal life and the shelter that is lost. The offside effects are the effect on the whole world which affects the areas not directly cleared. These are known as the global effects.” Libby Rittenberg a Professor of Economics explains, “Economic growth is the economies ability to produce more and more goods and services.” When resources decrease the country’s economy diminishes as well. This would cause and inward shift on the production possibilities curve. 


The narrator explains, “A study in 1999 showed that 2.5 acres of rainforest only produced $1000 in timber, and if used as a cattle field it would only produce $148 per 2.5 acre.” By cutting down the rainforest for these purposes the natural benefits were lost forever. Owens goes on to explain, “That if the rainforest were to be used for harvest, timber and latex it would produce $6,800 annually.” At this rate there is a much larger profit. Pendleton explains, “That it is important to try put a dollar amount on the goods and services provided by the rainforest because the government is always making economic decisions based on this.” By using the rainforest for farming, cattle fields and timber the government is not allocating its resources efficiently.


International trade gives each country a competitive edge. Owens explains, “If a country focuses on what they are good at then they can trade with another country and utilize the comparative advantage.” Rittenberg explains, “When a country does something better than another country they are doing it at a lower opportunity cost.” She continues with, “If they give up less than another country to produce the same thing then their opportunity cost is less and they have the comparative advantage.” The Internet and international trade give an advantage to a global economy. International trade increases a countries output; it allows a country to penetrate countries they may not have been able to access before. Therefore they are able to maximize their comparative advantage. Mr. Gordon explains, “The reason Colombia has such an advantage for making coffee is due to their climate and soil. So by them having the competitive advantage they can focus on making coffee and trade with other countries that do not make coffee for themselves. By doing this both countries are saving money by having a lower opportunity cost on their own product.” William Gruben explains, “That international trade helps the consumers buy things at a cheaper price somewhere else than they can buy it for in their own country.”

